# VARIOUS METHODS OF INTEGRABILITY OF CUBIC DIFFERENTIAL SYSTEMS WITH REAL INVARIANT LINES OF MULTIPLICITY EIGHT 

Vitalie Puțuntică, conf. univ., dr., Universitatea Pedagogică de Stat „Ion Creangă" din Chișinău

# DIVERSE METODE DE INTEGRABILITATE ALE SISTEMELOR DIFERENȚIALE CUBICE CU DREPTE INVARIANTE REALE DE MULTIPLICITATEA OPT 

Vitalie Puțuntică, PhD, Assoc. Prof., „Ion Creanga" State Pedagogical University of Chisinau,

ORCID: 0009-0009-0643-097X
putuntica.vitalie@upsc.md
CZU: 517.925
DOI: 10.46727/c.v3.24-25-03-2023.p311-319

Rezumat. În acest articol, se studiază sistemele diferențiale cubice plane cu drepte reale afine invariante de multiplicitate totală opt. Pentru aceste sisteme diferențiale (în total 24 de sisteme diferențiale) este rezolvată problema de integrabilitate prin diverse metode: metoda Darboux, metoda directă și metoda computațională. Rezultatele obținute prin cele trei metode coincid, adică soluțiile obținute sunt echivalente între ele sau diferă între ele printr-o constantă de integrare.

Cuvinte-cheie: Sistem cubic diferențial, dreaptă invariantă, integrabilitate.


#### Abstract

In this article, we study cubic planar differential systems with affine real invariant straight lines of total multiplicity eight. For these differential systems (there are 24 differential systems) the integrability problem is solved by various methods: the Darboux method, the direct method and the computational method. The results obtained by these three methods coincide, i.e. the obtained solutions are equivalent to each other or they differ from each other by an integration constant.


Keywords: cubic differential system, invariant straight line, integrability.

## 1. Introduction

Consider the polynomial system of differential equations

$$
\begin{equation*}
\stackrel{\&}{x}=P(x, y) \quad \stackrel{\&}{y}=Q(x, y) \tag{1}
\end{equation*}
$$

where the functions $P(x, y)$ and $Q(x, y)$ are polynomials in the variables $x$ and $y$ of degree $n$, where $n=\max \{\operatorname{deg} P, \operatorname{deg} Q\}$ or the differential equation

$$
\begin{equation*}
Q(x, y) d x-P(x, y) d y=0 . \tag{2}
\end{equation*}
$$

Let $X$ be the vector field associated with the system (1) and defined by the relation

$$
X=P(x, y) \frac{\partial}{\partial x}+Q(x, y) \frac{\partial}{\partial y} .
$$

Definition 1. A curve $f=0, f \in C[x, y]$ is called an algebraic invariant curve for the system (1) if there exists a polynomial $K_{f}(x, y) \in C[x, y]$ called the cofactor of the algebraic invariant curve, such that $\forall(x, y) \in R^{2}$ the following identity holds

$$
\begin{equation*}
X(f) \equiv f(x, y) K_{f}(x, y) \Leftrightarrow \frac{\partial f(x, y)}{\partial x} \cdot P(x, y)+\frac{\partial f(x, y)}{\partial y} \cdot Q(x, y) \equiv f(x, y) \cdot K_{f}(x, y) \tag{3}
\end{equation*}
$$

In particular, if $f(x, y)=a x+b y+c, a, b, c \in C,(a, b) \neq(0,0)$, then $f=0$ it is called an invariant straight line of system (1).
Definition 2. An algebraic curve $f=0$ of degree $k$ is invariant for the system (1) with algebraic multiplicity $m$, if $m$ is the largest natural number such that $f^{m}$ divides $E_{d}(X)$ where

$$
E_{f}(X)=\operatorname{det}\left(\begin{array}{cccc}
v_{1} & v_{2} & \ldots & v_{l}  \tag{4}\\
X\left(v_{1}\right) & X\left(v_{2}\right) & \ldots & X\left(v_{l}\right) \\
\ldots & \ldots & \ldots & \ldots \\
X^{l-1}\left(v_{1}\right) & X^{l-1}\left(v_{2}\right) & \ldots & X^{l-1}\left(v_{l}\right)
\end{array}\right),
$$

and $v_{1}, v_{2}, \ldots, v_{l}$ is a basis for the vector space of polynomials of degree $d: C_{d}[x, y]$
In the case of invariant straight lines, i.e. $d=1$, we can take $v_{1}=1, v_{2}=x, v_{3}=y$ and

$$
\begin{equation*}
E_{1}(X)=P \cdot X(Q)-Q \cdot X(P) \tag{5}
\end{equation*}
$$

In 1878, Darboux published the paper [2] in which he indicated a general method for integrating differential equations of the form (2) using the algebraic invariant curves of the polynomial systems.

Let the polynomial system (1) have $N$ invariant algebraic curves $f_{j}(x, y)=0, j=1, \mathrm{~K}, N$, i.e. there are cofactors $K_{j}(x, y) j=1, \mathrm{~K}, N$, such that the identities hold:

$$
\begin{equation*}
\frac{\partial f_{j}(x, y)}{\partial x} \cdot P(x, y)+\frac{\partial f_{j}(x, y)}{\partial y} \cdot Q(x, y) \equiv f_{j}(x, y) \cdot K_{j}(x, y) . \tag{6}
\end{equation*}
$$

The idea of Darboux is to search for a first integral of system (1) in the form

$$
\begin{equation*}
F(x, y)=\prod_{j=1}^{N} f_{j}^{\alpha_{j}}(x, y)=C, \tag{7}
\end{equation*}
$$

where $\alpha_{j} \in C$ and $f_{j}(x, y) \in C[x, y]$ A first integral (7) is called a Darboux first integral.
Theorem 1. The polynomial system (1) has a Darboux first integral of the form (7) if and only if there exist constants $\alpha_{j}, j=1, \mathrm{~K}, N$, not all identically zero, such that

$$
\begin{equation*}
\alpha_{1} K_{1}(x, y)+\alpha_{2} K_{2}(x, y)+\mathrm{K}+\alpha_{N} K_{N}(x, y) \equiv 0 . \tag{8}
\end{equation*}
$$

In case system (1) does not have a first integral of the form (7), Darboux proposes to construct the integrating factor of an analogous form

$$
\begin{equation*}
\mu(x, y)=\prod_{j=1}^{N} f_{j}^{\alpha_{j}}(x, y) \tag{9}
\end{equation*}
$$

where $\alpha_{j} \in C$, and $f_{j}(x, y)=0, j=1, \mathrm{~K}, N$ are algebraic invariant curves.

Theorem 2. The polynomial system (1) has a Darboux integrating factor of the form (9) if and only if there exist constants $\alpha_{j}{ }^{\prime} j=1, \mathrm{~K}, N$, such that

$$
\begin{equation*}
\sum_{j=1}^{N} \alpha_{j} \cdot K_{j}(x, y) \equiv-\frac{\partial P(x, y)}{\partial x}-\frac{\partial Q(x, y)}{\partial y} . \tag{10}
\end{equation*}
$$

Theorem 3. If system (1) has $N$ distinct algebraic invariant curves $f_{j}(x, y)=0, j=1, \mathrm{~K}, N$, where $N \geq \frac{n(n+1)}{2}$, then system (1) has a Darboux first integral of the form (7).

Last years, the Darboux theory of integrability has been developed and extended for invariant algebraic curves taking into account also their multiplicities. Multiple invariant algebraic curves generate exponential functions $e^{g_{i} / h_{i}}$, called exponential factors, which are part of the first integral (or integrating factor): $\prod_{j=1}^{N} f_{j}^{\alpha_{j}} \prod_{i=1}^{s} e^{g_{i} / h_{i}}$. In such situations, one speaks on genera-
lized Darboux integrability.

In [3-8] papers, the classification of cubic differential systems with a number of real and/ or complex invariant straight lines by directions has been carried out and the integrability problem has been solved using the Darboux method [2].

## 2. New results

In this paper we consider the cubic differential system

$$
\left\{\begin{array}{l}
\&  \tag{11}\\
x \\
= \\
p_{0}+p_{1}(x, y)+p_{2}(x, y)+p_{3}(x, y) \equiv P(x, y), \\
y=q_{0}+q_{1}(x, y)+q_{2}(x, y)+q_{3}(x, y) \equiv Q(x, y),
\end{array} \quad G C D(P, Q)=1,\right.
$$

where $p_{k}=\sum_{i+j=k} a_{j} x^{i} y^{j}$ and $q_{k}=\sum_{i+j=k} b_{j} x^{i} y^{j}(k=\overline{0,3})$ are homogeneous polynomials of degree $k$ in $x$ and $y$. The coefficients $a_{i j}$ and $b_{\dot{j}}$ in polynomials $p_{k}$ and $q_{k}$ are assumed to be real, and the condition $G C D(P, Q)=1$ ensures that the right-hand sides of system (11) have not common factors.

Theorem 4. Any cubic differential system with eight real invariant straight lines (including their multiplicities) can be transformed via an affine coordinate transformation and a rescaling of time into one of the 25 systems listed in Table 1 (see [1]).

Tabelul 1. Cubic differential systems with eight real invariant straight lines and their first integrals

| No | Differential systems | First integrals/integrating factor |
| :---: | :---: | :---: |
| 1. | $\left\{\begin{array}{l} \& \\ x=x(x+1)(x-a), \\ \& \\ y=y(y+1)(y-a), 0<a \neq 1, \end{array}\right.$ | $\frac{(x+1)^{a}(x-a) y^{1+a}}{x^{1+a}(y+1)^{a}(y-a)}=C ;$ |
| 2. | $\left\{\begin{array}{l}\& \\ x=x^{2}(x+1), \\ \& \\ y=y^{2}(y+1),\end{array}\right.$ | $\frac{x(y+1) e^{1 / x-1 / y}}{y(x+1)}=C ;$ |
| 3. | $\left\{\begin{array}{l}\& \\ x=x(x-1)(x+r), \quad r \neq 0, \\ \& \\ y=y(y-1)[(1-r) x+r y+r],\end{array}\right.$ | $\frac{(x-y)(x+r y)^{r}}{y^{1+r}(x-1)(x+r)^{r}}=C ;$ |
| 4. | $\left\{\begin{array}{l} \& \\ x=r x^{3}, r \neq 0, \\ \& \\ y=y^{2}[(r-1) x+y], \end{array}\right.$ | $\frac{(x-y)^{r}(r x+y)}{x^{r+1} y^{r+1}}=C ;$ |
| 5. | $\left\{\begin{array}{l} \& \\ x \\ \& \\ y=\left(x^{2}-1\right)(r x+2 y+r y), \\ y=\left(y^{2}-1\right)(x+2 r x+y), \\ r\left(r^{2}-1\right)(r+2)(2 r+1) \neq 0, \end{array}\right.$ | $\frac{y+1}{y-1} \cdot\left(\frac{x+1}{x-1}\right)^{r} \cdot\left(\frac{r x+y-r-1}{r x+y+r+1}\right)^{r+1}=C$ |
| 6. | $\left\{\begin{array}{l} \&=x^{2}(r x+2 y+r y) \\ \&=y^{2}(x+2 r x+y) \\ r\left(r^{2}-1\right)(r+2)(2 r+1) \neq 0, \end{array}\right.$ | $\frac{x y(r x+y)}{(y-x)^{2}}=C ;$ |
| 7. | $\left\{\begin{array}{l} \& \\ x=x\left(x^{2}-9 x-x y-y^{2}\right) \\ \& \\ y=-y^{2}(9+y), \end{array}\right.$ | $\begin{gathered} \mu=\frac{y+9}{x^{2} y^{2}(x-y-9)}, \\ \frac{9}{y}-\frac{y+9}{x}+\ln \frac{x}{y(x-y-9)}=C ; \end{gathered}$ |
| 8. | $\left\{\begin{array}{l} \&=x\left(x^{2}-x y-y^{2}\right), \\ \& \\ y=-y^{3}, \end{array}\right.$ | $\begin{gathered} \mu=\frac{1}{x^{2} y(x-y)}, \\ \frac{y}{x}+\ln \frac{(x-y) y}{x}=C \end{gathered}$ |
| 9. | $\left\{\begin{array}{l} \&=x(1-x)(y+1), \\ \& \\ y=y\left(1-x+y-x^{2}\right), \end{array}\right.$ | $\begin{gathered} \mu=\frac{x-y}{x^{2} y(x-y-1)} \\ \frac{y}{x}+x-y+\ln \frac{(x-y-1) x}{y}=C \end{gathered}$ |
| 10. | $\left\{\begin{array}{l} \& \\ x=\left(x^{2}-1\right)(x+y), \\ \& \\ y=2 x\left(y^{2}-1\right), \end{array}\right.$ | $\mu=\frac{x-y}{\left(x^{2}-1\right)^{2}\left(y^{2}-1\right)}$, |


|  |  | $\frac{2(y-x)}{x^{2}-1}+\ln \frac{(x-1)(y+1)}{(x+1)(y-1)}=C$ |
| :---: | :---: | :---: |
| 11. | $\left\{\begin{array}{l}\ell \\ x \\ = \\ \text { d }\end{array}\right.$ | $\begin{gathered} \mu=\frac{x+1}{x^{2}(x-1)^{2}}, \\ \frac{4 x+y+2 x y+x^{2} y}{x(x+1)}-\ln x=C ; \end{gathered}$ |
| 12. | $\left\{\begin{array}{l}\& \\ x=x(x-r+1)(x+r+1), \\ \& \\ y=y\left(2 x-r^{2}+1\right),\|r\| \neq 1,\end{array}\right.$ | $\left(\frac{y}{x}\right)^{2 r} \cdot \frac{(x+r+1)^{1+r}}{(x-r+1)^{1-r}}=C ;$ |
| 13. | $\left\{\begin{array}{l}\& \\ x=x(1-x+r)(1-x-r), \\ \& \\ y=2 y\left(x+r^{2}-1\right),\|r\| \neq 1,\end{array}\right.$ | $\frac{x^{2} y}{(1-x-r)(1-x+r)}=C$ |
| 14. | $\left\{\begin{array}{l} \& \\ x=x\left(x^{2}-1\right), \\ \&=x-2 y \\ y= \end{array}\right.$ | $\mu=\frac{1}{x^{3}}, \frac{\left(1-x^{2}\right) y}{x^{2}}-\frac{1}{x}=C ;$ |
| 15. | $\left\{\begin{array}{l} \& \\ x=x^{3}, \\ \& \\ y=1+x \end{array}\right.$ | $y=-\frac{1}{2 x^{2}}-\frac{1}{x}+C ;$ |
| 16. | $\left\{\begin{array}{l} \& \\ x=x^{2}(x+1), \\ \underset{y}{y}=1, \end{array}\right.$ | $y+\frac{1}{x}+\ln \frac{x}{x+1}=C ;$ |
| 17. | $\left\{\begin{array}{l} \&=x\left(r+x+x^{2}\right) \\ \underset{x}{\&}=r y, r \leq 1 / 4, r \neq 0, \end{array}\right.$ | $\begin{gathered} \ln \frac{x}{y \sqrt{x^{2}+x+r}}-\frac{1}{\sqrt{1-4 r}} \ln \left\|\frac{2 x+1-\sqrt{1-4 r}}{2 x+1+\sqrt{1-4 r}}\right\|=C, \\ \ln \frac{x}{y(2 x+1)}-\frac{1}{2 x+1}=C, r=\frac{1}{4}, \end{gathered}$ |
| 18. | $\left\{\begin{array}{l} \& \\ x=x(x+1)(x+r), r \neq\{0 ; 1\}, \\ \& \\ y=y\left(r+2 x+2 r x+3 x^{2}\right), \end{array}\right.$ | $\frac{y}{x(x+1)(x+r)}=C$ |
| 19. | $\left\{\begin{array}{l} \begin{array}{l} \& \\ x \end{array}=x(1+x)(r+2+(r+1) x), \\ \& \\ y=y\left(r+2+(3+2 r) x+r x^{2}\right), \end{array}\right.$ | $\left(\frac{y}{x(x+1)}\right)^{r+1} \cdot(2+r+x+r x)^{r+2}=C ;$ |
| 20. | $\left\{\begin{array}{l} \& \\ x=x\left(r+x^{2}\right) \\ \& \\ y=1+r y+3 x^{2} y, r \leq 0 \end{array}\right.$ | $\begin{gathered} \frac{2 r+3 x^{2}+2 r^{2} y}{x\left(x^{2}+r\right)}+\frac{3}{4 r^{2} \sqrt{-r}} \ln \left\|\frac{x+\sqrt{-r}}{x-\sqrt{-r}}\right\|=C, \\ \frac{y}{x^{3}}+\frac{1}{5 x^{5}}=C, r=0 ; \end{gathered}$ |


| 21. | $\left\{\begin{array}{l} \& \\ x=x(1+x), \\ \& \\ y=y\left(1+x-x^{2}\right), \end{array}\right.$ | $\mu=\frac{1}{x y(x+1)}, \frac{x(x+1)}{y}=C e^{x} ;$ |
| :---: | :---: | :---: |
| 22. | $\left\{\begin{array}{l} \& \\ x=x \\ \& \\ y=-2 y-x^{3} \end{array}\right.$ | $x^{2}\left(5 y-x^{3}\right)=C ;$ |
| 23. | $\left\{\begin{array}{l} \& \\ x=x, \\ \& \\ y=y-x^{2}-x^{3}, \end{array}\right.$ | $\frac{2 y}{x}+2 x+x^{2}=C ;$ |
| 24. | $\left\{\begin{array}{l}\& \\ x=x(x+1), \\ \& \\ y=y+x y-x^{3},\end{array}\right.$ | $\frac{y}{x}+x-\ln \|x+1\|=C$ |
| 25. | $\left\{\begin{array}{l} \& \\ x=x^{2}(x+1) \\ \& \\ y=-1-3 x+x^{2} y-x^{3}, \end{array}\right.$ | $\frac{x y-4 x-1}{x(x+1)}+\ln x=C .$ |

For the class of cubic differential systems with eight real invariant straight lines, the integrability problem has been solved by various methods: the Darboux method (finding the Darboux first integral or the Darboux integrating factor), direct method (reducing the differential system to a first-order differential equation), and computational method (using Wolfram Mathematica software), see Table 1.

## 3. Justification

We will show various methods of integrability for the differential systems listed in Theorem 4.

Case I. Integrability of System No. 3. Let the differential system be
where $l_{1}=x, l_{2}=x-1, l_{3}=x+r, l_{4}=y, l_{5}=y-1, l_{6}=x-y, l_{7}=x+r y$ are the invariant straight lines of this system.

The cofactors of the mentioned straight lines are

$$
\begin{gathered}
K_{1}(x, y)=(x-1)(x+r), K_{2}(x, y)=x(x+r), K_{3}(x, y)=x(x-1), \\
K_{4}(x, y)=(y-1)(x-r x+r y+r), K_{5}(x, y)=y(x-r x+r y+r), \\
K_{6}(x, y)=x^{2}+x y+r y^{2}+r x-x-r, K_{7}(x, y)=x^{2}-r x y+r y^{2}+r x-x-r
\end{gathered}
$$

respectively. Using the relation (8), we obtain

$$
\begin{gathered}
\alpha_{1}(x-1)(x+r)+\alpha_{2} x(x+r)+\alpha_{3} x(x-1)+\alpha_{4}(y-1)(x-r x+r y+r)+ \\
+\alpha_{5} y(x-r x+r y+r)+\alpha_{6}\left(x^{2}+x y+r y^{2}+r x-x-r\right)+\alpha_{7}\left(x^{2}-r x y+r y^{2}+r x-x-r\right)=0 .
\end{gathered}
$$

By equating the coefficients next to the monomials $x^{k} y^{j}$, where $k, j=\overline{0,2}$ we will have

$$
\begin{align*}
& x^{0} y^{0}:  \tag{13}\\
& x^{1} y^{0}: \\
& x^{0} y^{1}: \\
& x^{2} y^{0}: \\
& x^{1} y^{1}: \\
& x^{0} y^{2}:
\end{align*}\left\{\begin{array}{l}
\alpha_{1}+\alpha_{4}+\alpha_{6}+\alpha_{7}=0 \\
(r-1) \alpha_{1}+r \alpha_{2}-\alpha_{3}+(r-1) \alpha_{4}+(r-1) \alpha_{6}+(r-1) \alpha_{7}=0, \\
\alpha_{5}=0 \\
\alpha_{1}+\alpha_{2}+\alpha_{3}+\alpha_{6}+\alpha_{7}=0 \\
(1-r) \alpha_{4}+(1-r) \alpha_{5}+\alpha_{6}-r \alpha_{7}=0, \\
\alpha_{4}+\alpha_{5}+\alpha_{6}+\alpha_{7}=0
\end{array}\right.
$$

System (13) is an undetermined compatible system that has the solution

$$
\alpha_{1}=\alpha_{5}=0, \alpha_{2}=-\alpha_{7} / r, \alpha_{3}=-\alpha_{7}, \alpha_{4}=-(r+1) \alpha_{7} / r, \alpha_{6}=\alpha_{7} / r .
$$

Substituting $\alpha_{7}=r$ we will have:

$$
\alpha_{1}=\alpha_{5}=0, \alpha_{2}=-1, \alpha_{3}=-r, \alpha_{4}=-1-r, \alpha_{6}=1, \alpha_{7}=r .
$$

Therefore, by substituting the obtained exponents and the invariant straight lines of the system (12) into relation (7), we obtain the Darboux first integral:

$$
x^{0}(x-1)^{-1}(x+r)^{-r} y^{-1-r}(y-1)^{0}(x-y)^{1}(x+r y)^{r}=C \text { or } \frac{(x-y)(x+r y)^{r}}{y^{1+r}(x-1)(x+r)^{r}}=C .
$$

Case II. Integrability of System No. 4. Let the differential system be

$$
\left\{\begin{array}{l}
\&  \tag{14}\\
x=r x^{3}, \quad r \neq 0, \\
\& \\
y=y^{2}[(r-1) x+y],
\end{array}\right.
$$

where $l_{1}=l_{2}=l_{3}=x, l_{4}=l_{5}=y, l_{6}=x-y, l_{7}=x+y$ are the invariant straight lines of this system.
a) Darboux method. Therefore, the cofactors of the mentioned straight lines are

$$
\begin{aligned}
& K_{1}(x, y)=\kappa^{2}, K_{2}(x, y)=-\kappa, K_{3}(x, y)=-2 r, K_{4}(x, y)=y(\kappa-x+y) \\
& K_{5}(x, y)=x-\kappa-y, K_{6}(x, y)=\kappa^{2}+r x y+y^{2}, K_{7}(x, y)=\kappa^{2}-y+y^{2}
\end{aligned}
$$

respectively. Using the relation (8), we obtain

$$
\begin{gathered}
r \alpha_{1} x^{2}-r \alpha_{2}-2 r \alpha_{3}+\alpha_{4} y(x-x+y)+\alpha_{5}(x-\kappa-y)+\alpha_{6}\left(\kappa^{2}+r x y+y^{2}\right)+ \\
+\alpha_{7}\left(x^{2}-y+y^{2}\right)=0 .
\end{gathered}
$$

By equating the coefficients next to the monomials $x^{k} y^{j}$, where $k, j=\overline{0,2}$ we will have

$$
\begin{align*}
& x^{0} y^{0}:  \tag{15}\\
& x^{1} y^{0}: \\
& x^{0} y^{1}: \\
& x^{2} y^{0}: \\
& x^{1} y^{1}: \\
& x^{0} y^{2}:
\end{align*}\left\{\begin{array}{l}
\alpha_{3}=0 \\
r \alpha_{2}+(r-1) \alpha_{5}=0 \\
\alpha_{5}=0 \\
\alpha_{1}+\alpha_{6}+\alpha_{7}=0 \\
(r-1) \alpha_{4}+r \alpha_{6}-\alpha_{7}=0, \\
\alpha_{4}+\alpha_{6}+\alpha_{7}=0
\end{array}\right.
$$

System (15) is an undetermined compatible system. From system (15), we obtain:

$$
\alpha_{1}=-(r+1) \alpha_{7}, \alpha_{2}=\alpha_{3}=\alpha_{5}=0, \alpha_{4}=-(r+1) \alpha_{7}, \alpha_{6}=r \alpha_{7} .
$$

Substituting $\alpha_{7}=1$ we will have: $\alpha_{1}=\alpha_{4}=-r-1, \alpha_{2}=\alpha_{3}=\alpha_{5}=0, \alpha_{7}=r$.
Therefore, by substituting the obtained exponents and the invariant straight lines of system (14) into relation (7), we obtain the Darboux first integral:

$$
\begin{equation*}
x^{-r-1} e^{0 / x} e^{0 / x^{2}} y^{-r-1} e^{0 / y}(x-y)^{r}(r x+y)^{1}=C \text { or } \frac{(x-y)^{r}(r x+y)}{r^{r+1}, r+1}=C . \tag{16}
\end{equation*}
$$

b) Direct method. The system (15) can be reduced to a differential equation of the form

$$
\frac{d y}{d x}=\frac{y^{2}[(r-1) x+y]}{r x^{3}} \text { or } y^{\prime}=\frac{1}{r}\left(\frac{y}{x}\right)^{2} \cdot\left(r-1+\frac{y}{x}\right) .
$$

The obtained equation is a homogeneous differential equation. We make the substitution $\frac{y}{x}=z, y^{\prime}=z+x z^{\prime}$. In the result, we obtain

$$
z+x z^{\prime}=\frac{1}{r} z^{2}(r-1+z) \Rightarrow x \frac{d z}{d x}=\frac{z(z-1)(z+r)}{r} \Rightarrow \frac{d z}{z(z-1)(z+r)}=\frac{d x}{r x} .
$$

Integrating both sides, we obtain: $\int \frac{d z}{z(z-1)(z+r)}=\frac{1}{r} \int \frac{d x}{x}$.
We decompose the rational fraction into elementary fractions:

$$
\frac{1}{z(z-1)(z+r)}=\frac{A}{z}+\frac{B}{z-1}+\frac{C}{z+r} \Rightarrow \frac{1}{z(z-1)(z+r)}=-\frac{1}{r z}+\frac{1}{(r+1)(z-1)}+\frac{1}{r(r+1)(z+r)} .
$$

In the result, we obtain:

$$
\int\left(-\frac{1}{r z}+\frac{1}{(r+1)(z-1)}+\frac{1}{r(r+1)(z+r)}\right) d z=\frac{1}{r} \int \frac{d x}{x}
$$

from which

$$
-\frac{1}{r} \mathrm{~h}|z|+\frac{1}{r+1} \mathrm{~h}|z-1|+\frac{1}{r(r+1)} \mathrm{h}|z+r|=\frac{1}{r} \mathrm{~h}|x|+\frac{\mathrm{h}|\widetilde{C}|}{r},
$$

or by performing some elementary transformations, we will have: $\frac{(z-1)^{r}(z+r)}{z^{r+1} x^{r+1}}=C$, where $C= \pm \widetilde{C}^{r+1}$. Returning to the substitution $\frac{y}{x}=z$ we obtain $\frac{(x-y)^{r}(x+y)}{x^{r+1} y^{r+1}}=C$.

Case III. Integrability of System No. 22. Let the differential system be

$$
\left\{\begin{array}{l}
\&  \tag{17}\\
x=x \\
\& \\
y=-2 y-x^{3},
\end{array}\right.
$$

which has the invariant straight line $l_{1}=x$. System (17) can be brought to the form

$$
\begin{equation*}
y^{\prime}+\frac{2}{x} y=-x^{2} \tag{18}
\end{equation*}
$$

being a linear differential equation. Using the Wolfram Mathematica Software, we obtain:


Similarly, using the mentioned methods, the other prime integrals from Table 1 are also demonstrated.

## BIBLIOGRAPHIE

1. BUJAC, C. Cubic differential systems with invariant lines of total multiplicity eight. Doctor Thesis in Mathematics CZU 517.925, Chisinau 2016.
2. DARBOUX, G. Mémoire sur les équations différentielles algébriques du premier ordre et du premier degré. Bull. Science Math. Sér., 1878, p. 60-96; 123-144; 151-200; (in French).
3. PUȚUNTICĂ, V. Integrability of cubic differential systems with the maximum number of invariant straight lines, Învăṭământul superior din Republica Moldova la 85 de ani, Materialele conferinței științifice naționale cu participare internațională, Chișinău, 24-25 septembrie 2015, p. 36-37.
4. PUȚUNTICĂ,V.; ŞUBĂ, A. The cubic differential system with six real invariant straight lines along two directions, Studia Universitatis. Seria Ştiinţe exacte şi economice, N 8(13), 2008, p. 5-16. ISSN 1857-2073.
5. PUŢUNTICĂ V.; ŞUBĂ, A. The cubic differential system with six real invariant straight lines along three directions, Buletinul Academiei de Ştiințe a Republicii Moldova, Matematica Nr. 2(60), 2009, p. 111-130. ISSN1024-7696.
6. PUȚUNTICÅ V.; ŞUBĂ, A. Cubic differential systems with affine real invariant straight lines of total parallel multiplicity six and configuration ( $3(m), 1,1,1)$, ACTA ET COMMENTATIONES, Științe Exacte și ale Naturii, Universitatea de Stat din Tiraspol, Nr. 2(6), 2018, p. 95-116. ISSN 2537-6284.
7. ŞUBĂ, A.; REPEŞCO, V.; PUŢUNTICĂ, V. Cubic systems with invariant affine straight lines of total parallel multiplicity seven. Electronic Journal of Differential Equation, Vol. 2013 (2013), No. 274, p. 1-22. ISSN: 1072-6691. URL: http://ejde.math.thstate.edu
8. ŞUBĂ, A.; REPEŞCO, V.; PUȚUNTICĂ, V. Cubic systems with seven invariant straight lines of configuration ( $3,3,1$ ), Buletinul Academiei de Ştiinţe a Republicii Moldova, Matematica, no. 2(69), 2012, p. 81-98. ISSN 1024-7696.
